Content

VERB FORM ...ttt EXAMPLE POSSIBLE ENDING
GERUND ...ttt e e e e sate e e s ata e e e sntae e e sentaeeeeanes 2 having gone -tva
IMPERFECT ACTIVE..... ittt 2 he went a+ -+t
FUTURE TENSE ..ottt ettt e e e e s s e e e e e 2 he will go -ati
IMPERATIVE ..ottt ettt eeeeee e ee e e eeeeeeeeeeesesesenes 3 go!
PASSIVE .ottt ettt ettt e et e e et re e e e ae e e e bt e e e e a e e e enreeas 4 he is gone -ate
PAST PASSIVE PARTICIPLE ....couiiiiieieeieeteeieeiee st 5 gone -ta
THE PERIPHRASTIC FUTURE ...evieiiei e 6 he will go -ta
FUTURE PASSIVE PARTICLE ....coeveeiiiiiiiieiiieieieieieeeeeeeeeeeeeee e e e eeeeeees 8 to be gone -ya, -tavya,aniya
THE PERFECT ..ottt 10 he went -a
OPTATIVE oottt ettt e e et e e et e e e e tae e e s e btee e e eabaneeseabanaeeennes 13  heshould go
PRESENT PARTICIPLE ....c..etiiitiitenitesiie ettt sttt 14  going -ant
CAUSATIVE .ottt ettt ettt e e e st e e e e s s s s sanraaeeeeee s 15  he causesto go -ati
THE DESIDERATIVE ..ottt ettt erere e e e e e 18 hewantstogo -ati -ate
INTENSIVE ...ttt e e e are e e e e e e nrae e e 20  he definitely goes -ate
DENOMINATIVE ..ottt ettt st st nne e 20  noun becomesverb -ate
CONDITIONAL. ...eiie ettt ettt e e cee e e te e e e ere e e e e bae e e e enree e e eanees 20 he would have gone -at
AODRIST ettt ettt e ettt e e e e s s st bt e e e e e s s e s sabrnaeeeeeseennnns 20 he went today -at
FUTURE ACTIVE AND MIDDLE PARTICIPLES.........cevvieiriiiririnererenenenenee 21 he will be gone -ati -ant
PAST ACTIVE PARTICIPLE......cvvtiiiiiiiiiiiieceeec e 21  hewent -vant
has gone -tavan



GERUND

Root 3rd Per. Sing. Gerund
a+Vgam agacchati agamya having come
(also agatya)
v gam gacchati gatva having gone
Vcint cintayati -te cintayitvd  having thought
Vi jayati jitva having conquered
Vdr§ (pa$) pasyati drstva having seen
path pathati pathitva having read
Yprach  prechati prstva having asked
Ybhas  bhasate bhasitva having said
Vbhii bhavati bhiitva having been
Vman manyate matva having thought
Vlabh  labhate labdhva having obtained
Vvad vadati uditva having said
Vvas vasati usitva having lived
Vsev sevate sevitva having served
Vstha tisthati sthitva having stood
Vsmr smarati smrtva having remembered
IMPERFECT ACTIVE
a + gaccha +t becomes agacchat he went
a + vada +1t becomes avadat he spoke
[ T I 1
augment stem  ending imperfect
FUTURE TENSE
upa + Vgam upagamisyati he will approach
Jgam gamisyati he will go
Jgup gopsyati he will protect
Jeint cintayigyati -te  he will think
ji Jjesyati he will conquer
Ndr$ draksyati he will see
Vni nesyati -te he will lead
vpath pathisyati he will read
Vpas draksyati he will see
Jpa pasyati he will drink




IMPERATIVE

root: Ygam (go) Imperative Active

prathama T8 ( TediH TS
gacchatu gacchatam gacchantu
gaccha+tu gaccha+tam gaccha-a+anty
madhyama I[85 TeSdq Tesd
gaccha gacchatam gacchata
gaccha gaccha+tam gaccha+ta
uttama MBI =B T8
gacchani gacchava gacchama
gaccha+ani gaccha+iva gaccha+ama
I [ [ |
eka dvi bahu

root: Vlabh (obtain) Imperative Middle

prathama CTATH  SHdATY

madhyama

uttama

Aq~dH

labhatam labhetam labhantam
labha+tam labha+itam labha-a+antam
AN ARG A9EEq
labhasva labhetham labhadhvam
labha+sva labha+itham labha+dhvam
labhai labhavahai labhdimahai
labha+ai labha+avahai labha+amahai
I I I Pt

eka dvi bahu




PASSIVE

ROOT

Vkr (8U) .
Vgam (1P)
Vgup (IP)
Veint (10U)
Vcur (10U)
Vi (1P)
Vtan (8U)
Vtud (6U)
Vtyaj (1P)

Vdiv (4P)

Vdr$ (Vpas)(1P)

Vni (1U)
Vpath (1P)

Vpa (1P)

\( prach (6P)

PRESENT

karoti, kuruie

gacchati
gopayati
cintayati -te
corayati -te

Jjavati

tanoti, tanute

tudati -te
tyajati
divyati
paSyati
nayati -te
pathati '
pibati

prechati

PASSIVE
kriyate
gamyate
gupyate
cintyate
coryate
jiyate
tanyate
tudyate
tyajyate
divyate
driyate
niyate
pathyate
piyate

prechyate

ENGLISH PASSIVE
is made

is gone

is protected
is thought

is stolen

is conquered
is stretched
is pushed

is abandoned
is played

is seen

is lead

is read

is drunk

is asked




PAST PASSIVE PARTICIPLE

ROOT PRESENT
Vis (6P) icchati
Vkr (8U) karoti, kurute

. Vgam (IP) gacchati
Vgup (1P) gopayati
Vcint (100) | ‘cintayati -te
Veur (100) corayati -te

- Nji(Ip) jayati
«/tzu_: (8U) tanoti, tanute
Vtud (6U)  tudati -te

Vtyaj (1P) tyajati

P.P.P.
ista
krta
gata
gupta
ﬁntim
mrita
jita
tata
tunna

tyakta

ENGLISH
desimd
done, made
gone
protected
thought
stolen
conquered
stretched
pushéd

abandoned




THE PERIPHRASTIC FUTURE

ROOT PRESENT
Vap (5P) apnoti

Vis (6P) icchati _

Vkr (8U) karoti, kurute
Ygam (1P) gacchati
Ygup (1P) gopayati

i cint (10U) cintayati -te
Yeur (100) ‘corayati -te
Yjan (4A) jayate

Vji (1P) jayati

Ytan (8U) tanoti, tanute
Ytud (6U) tudati -te

V&£ (1P) tarati

Vtyaj (1P) tyajati

Yda (3U) dadati, datte
Vdiv (.4P). divyati

Vdré (Vpas)(1P) pasyati

Ydha (3U) dadhati, dhatte
Vi (1U) nayati -te
Vpath (1P) pathati

Vi (1P) pibati

ENGLISH

he will obtain
he will choose
he will do

he will go

he will ﬁrotect

he will think
he will steal

he will be born
he will conquer
he will stretch
he will push

he will cross
he will abandon
he will give

he will play

he will see

he will place

he will lead

he will read

he will drink




Vprach (6P)
Vbudh (1U)
Vbhas (1A)
Vbhi (1P)
Vman (4A)
Vmuc (6U)
Vyuj (7U)
Yram (1)
Viabh (14)
Vvad (1P
Vvas (1P) |
Vsubh (14)
V§ru (5P)
Vsu (5U)
Vsev (1A)
Vstha (1P)
Vsmi (14)
Vsmr (1P)
Vhas (1P)
Vha (3P)
vhu (3P)

prechati
bodhati -te
bhasate
bhavati
manyate
muiicati - te
yunakti, yuﬁki:e
ramate
labhate
vadati
vasati
Sobhate
$rnoti
sunoti, sunute
sevate
tisthati
smafate
smarati
hasati
jahati
juhoti -

prasta
bodhita

 bhasita

bhavita
manta
mokta
yokta
labdha
vadita
vasta

Sobhita

sota
sevita
sthata
smetd
smartia
hasita
hata

hota

he will ask

he will know

he will speak

he will be

he will think

he will release

he will unite

he will enjoy

he will obtain

he will speak

he will live

he will shine

he will hear

he will press
hewill serve
he will establish
he will smile

he will remember
he will laugh

he will abandon

he will offer




FUTURE PASSIVE PARTICLE

ROOT aniya

Vap (5P)  dpaniya
Vis(6P)  esaniya
Vkr (éU) karaniya
Vgam (IP) gamaniya
Vgup kIP) gopaniya
Veint (10U)  cinataniya
Veur (10U) coraniya
Vjan -(4:_&) —

Vji (1P) —_

Vtan 8U) —

Vtud ®U) —

VtF (1P) taraniya
Jtyaj (1IP) tyajaniya
Vda (3U)  daniya
Vdiv(dp) —

Vdr$ (1IP)  dar$aniya

tavya ya
aptavya apya
esitavya esya
kartavya karya
gantavya ‘' gamya
goptavya gopya
cintayitavya cintya
corayitavya corya
janitavya  janya
jetavya jitya, jeya
tanitavya tanya
— todya
taritavya tarya
tyaktavya  tyajya
datavya deya
devitavya —

' drastavya  drfyva

ENGLISH

to be obtained
to be chosen
to be done

to be gone
to-be protected
io be thought
to be stolen

to be born

to be conquered
1o be stretched
to be pushed
1o be crossed

to be
abandoned

to be given
to be played

10 be seen




Vdha (3U) dhaniya dhatavya dheya to be placed
VYni (1U) nayarﬁya netavya neya to be lead
Vpath (1P) pathaniya pathitavya pathya to be read
Vpa (1P) paniya patavya peya to be drunk
Vprach (6P) — prastavya  prechya  to be asked
Vbudh (1U) bodhaniya bodhitavya bodhya to be known
Vbhas (1A) bhasaniya i)hﬁs_itav;ya bhasya  to be spoken
Vbhii (IP)  bhavaniya . bhavitavya bhavya  should be
Vman (4A) mananiya mantavya manya o be thought
v #mc (6U) mocaniya moktavya mocya to be released
VYyuj (7U)  yojanmiya  yoktavya  yojya to be united
Yram (1A) ramaniya rantavya ramya to be'enjoyed
Ylabh (13 ) labhaniya labdhavya labhya  to be obtained
Vvad (1P) vﬁdan_iya vaditavya  vadya to be spoken
Vvas (IP) vasaniya vastavya vasya w belived
Véubh (1A) Sobhaniya — _ z§ be shined
vVéru (SP)  §ravaniya §r0ta§3@_ §ravya  to be heard
Vsu (5U) — sotavya — to be pressed
Vsev (1A) sévanfya sevitavya  sevya to be served
Vstha (1P) — sthatavya stheya to be established
Ysmi (1A) smayaniya smetavya sméya .to be smiled
Vsmr (1P) smaraniya smartavya smarya to be remembere
Vhas (1P) hasaniya hasitavya  hasya to be laughed
vha(3P) — hatavya heya to be abandoned
Vvhu 3P) — hotavya havya to be offered




THE PERFECT

ROOT
Vad (2P)
Vas (2P)
\fﬁ_p (5P)
Vs (2A)
Vis (6P)
Vkr (8U)
Vgam (1P)
Vjan (4A)
Vji(1P)
Vjfia (Ou)
tan (8U)
Vtud (6U)
NIF(IP)

Vtyaj (1P)

icchati

karoti, _lmrute

gacchati
jayate

jayati

janati, jAnite
tanoti, tanute
tudati -te
tarati

tyajati

ENGLISH

he ate

he was

he obtained
he sat

he desired
he did

he went

he was born
he conquered
he knew

he sﬁemhcd
he pushed
he crossed

he abandoned
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Vda (3U)
Vdiv (4P)
Vdrs(v paé)(1§)
Vdha (3U)
‘~! ni (1U)
Jpath (1P)
Ypad (4A)
Vpa (1P)
Vprach (6P)
- Ybudh (1U)
Vbhis (14)
Ybhi (1P)
Vman (44)
Ymue (6U)
Jyuj (70)
Yram (1)

Viabh (1A)

dadati, datte
divyati

pasyati
dadhati, dhatte
nayati -te
pathati
padyate

pibati

prechati

‘bodhati -te

bhasate
bhavati
manyate

muficati -te

-yunakti, ynnkte

ramate

labhate ~ti

dadau

dideva

- dadarsa

dadhau
dadhe
ninfya
papatha
pede
papau
papraccha
bubodha
bubudhe
babhase

babhiiva

mene

' fnumnca

muymiuce
yuyoja
yuyuje
reme

lebhe

he gave

he played
he saw
He‘placed
he lead

he read

he went
he drank
he asked
he knew
he spoke
he was

he thought
he released
he.united
he enjoyed

he obtained
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Vvad (1P)
Vvas (1P)
Vvraj (1P)
Y$ubh (14)
Véru (5P)
Vsu (5U)
Vsev (1A)
Vstha (1P)

Vsmi (14)

Vsmr (1P) -

Yhan (2P)
Vhas (1P)
Vha (3P)

 vhu (3P)

vadati

vasati

vrajati
Sobhate
§rnoti

sﬁnoti, sunute
sevate

tisthati
sma'yate
smarati

hanti

 hasati

jahati

juhoti

uvada
uvisa
vavraja
§uSubhe
Susrava
susava
siseve
tasthau

sismiye

-sasmara

jagha@na
jahdisa
jahau

juhava

he spoke
he lived
he walked

he shined

he stood - __
he smiled

he remembér
he ]ulled

he ]anghed—

he abandonec

he offered

Notice that for a verb root that ends in &, the perfect ending is au.

12



OPTATIVE

Root: Vbhii (be) 1P Optative (should be)

prathama rqa_('[ W T[ﬁ'g:

bhavet bhavetam bhaveyuh
_ bhava+i+t bhava+i+tam  bhava+i+us
madhyama ‘qﬁ: qaﬁt!; 'qa_('r
bhaveh bhavetam bhaveta
bhava+i+s bhava+i+tam  bhava+i+ta
attama  WAI] 999 T
bhaveyam bhaveva bhavema
bhava+i+am  bhava+i+va bhava+i+ma
! I - o
eka dvi bahu

Root: ¥labh (obtain) 1A Optative (should obtain)

prathama H‘fﬁ _ m ?{‘ﬁ'F[

labheta _ labheyatam labheran
labhq+§+ta labha+i+atam labha+i+ran

madhyama Fl‘ffﬂTt FT‘EITITW'F[ a‘ﬁ-ﬁt[

labhethah labheyatham  labhedhvam
labha+i+thas labha+i+atham labha+i+dhvam

uttama W a“?ﬁ%‘ H’ﬁ'ﬁ‘f%‘

labheya labhevahi labhemahi
labha+i+a labha+i+vahi  labha+i+mahi
| I I |

eka dvi bahu
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PRESENT PARTICIPLE

ROOT 3rd Per. PL. STEM ENGLISH
Vbhii (1P) bhavanti bhavant  being

Yad (2P) adanti adant eating

Vhu (3P) juhvati juhvat offering
Vdiv (4P) divyanti divyant  playing

Vsu (5U) sunvanti sunvant  pressing
Vtud (6U)  tudanti tudant  pushing
Vrudh (7U) rundhanti rundhant blocking
Vtan (8U)  tanvanti tanvant  stretching
Vkri(9U)  krinanti krinant  buying
Veur (10U)  corayanti corayant stealing
ROOT CLASS VERB STEM PARTICIPLE STEM ENGLISH
Jbhas 1 bhasa bhasamana speaking
] Vsev 1 seva sevamnana serving
Vvrt 1 varta - vartamana being
vkr 8 kuru (weak) kurvina doing
Vsu 5 sunu (weak) sunvana pressing
Vrudh 7 rundh (weak) rundhina blocking

14




CAUSATIVE

he sends

RU2P) eti ayayati

Vad 2P)  atti esayati he causes to choose

Vap (5P)  dpnoti Gpayati®  he causes to do

Vgam (1P) - gacchati gamayati  he causes tcl) g0

Vgup (1P) gopﬁyati gopayati he causes to protect

Vgai (1IP)  gayati gapayati  he causes to sing

Vjan (4A)  jayate janayati  she gives birth to

Vi (1P) jayati japayati  he causes aocmiquer

Viiv(lP)  jivati jivayati  he causes to live
Vjiia (QU) ~ janati, janite  jiiapayati hetells

' jiiapayati

‘\han (8U) tanoti, tanute tanayati he causes to stretch
Vtud (6U)  tudati -te todayati he causes to push
Vtus (4P) tusyati tosayati he causes to satisfy
VtF (1P) tarati tarayati  he causes to cross
Vtyaj (1IP) tyajati tyajayati  he causes to abandon
Vda (3U)  dadati, datte  dapayati  he causesto give
Vdr§(¥ pa$)(1P) padyati darSayati  he causes to see
Vdha (3U) dadhati, dhatte dh@payati  he causes to place
Ydhr (1U)  dharati -te dharayati  he causes to hold
Vni (1U) nayati -te nayayati he causes to lead
Vpath (1P) pathati pathayati  he causes to read
Vpad (4A) padyate padayati  he sends
Vpa(IP)  pibati payayati  he causes to drink

Vprach (6P) prcchati -

vYbudh (1U) bodhati -te

pracchayati he causes to ask

bodhayati

he causes to know




Vstha (1P)
Vsmi (1)

Vsmr (1F)

Yhan (2P)
Vhas (1P)
Vha (3P)

Vhu (3P)

tisthati

smayate

smarati

hanti

hasati

jahati

Jjuhoti

sthapayati
smapayati

smarayati

smarayati
ghatayati
hésa;yati
hapayati

havayati

he places
he causes to smile

he causes to remember

he causes to kill
he causes to laugh
he causes to abandon

he causes to offer

16



Present indicative (lat)

gamayati he causes to go

Imperfect (lam) agamayat he caused to go

Imperative (lot) gamayatu he must cause to go

Optative (vidhi lin) gamayet . he should cause to go

Present participle

(vartamane krdanta) gamayan he is causing to go
Vbhas (1A) | bhasate bhiisayati  he causes to speak
\bhil (1P) hhavatil bhavayati he causes to be
vYman (4A) ~ manyate minayati  he causes to think
Ymuc (6U) muficati -te mocayati  he causes to release
vy yuj (7U)  yunakti, yankte yojayati he causes to unite
Nram (1A) ramate ramayati  he causes to enjoy
Ylabh (1A) labhate lambhayati he causes to obtain
Vvac 2P) vakti vacayati he causes to speak
Vvad (1P)  vadati vadayati he causes to speak
Vvas (1P) vasati vasayati . he causes to live
Vvi§ (6P) ~ visati ' veSayati he causes ;0 enter
Vvraj(1P)  vrajati vrajayati  he causes to walk
Véak (5P) §aknoti Sakayati he causes to be able
Yéubh (1A) $obhate §obhayati  he causes to shine
\J ér.u (5P)  Srnoti §ravayati  hetells
Vsrj 6P) srjati sarjaydti  he causes to create
Vsev (1A) sevate sevayg.ti he causes to serve

17



Passive

(karmani prayoga) gamyate he caused to have gone
Past passive participle ) '
(bhiite krdanta) gamita he caused to have gone
Gerund gamayitva having caused to go
Infinitive - gamayitum to cause to go
Gerundive gamayitavya

gamya

gamaniya to be caused to go
Future (Irt) gamayisyati  he will cause to go
Periphrastic future (lut) gamayita he will cause to go

THE DESIDERATIVE

ROOT PRESENT DESIDERATIVE ENGLISH

VJad QP)  atti
Yap (5P)  apnoti
Vas (2A)  aste
Vi (2P) eti

Vis (6P) icchati

Ygup (1IP)  gopayati
Ygam (IP) gacchati
Vjan (4A) jayate

VEF (1P) tarati
Vjiv(IP) = jivati

Vda (3U)  dadati, datte
Vdrs(Vpa$)(1P) pasyati

VYdha (3U) dadhati, dhatte

jighatsati  he wants to eat
ipsati he wants to obtain
asjsisati he wants to sit
iyisati he wants to go

esisisati he wants to choose

jugupsati  he wants to protect
jigamisati  he wants to go

jijanisate  he wants to be born

titirsati he wants to cross

jijivisati he wants to live
ditsati he wants to give
didrksati  he wants to see

dhitsati he wants to place

18



Vdhr (10)
Vni (1U)
Vpath (1P)
Vpad (4A)
Vpa (1P)
prach (6P)
Vbudh (1U)
Vbhas (1A)
Vbhii (1P)
Vman (4A)
Vmuc (6U)
Vyuj (70)
v ra:ﬁ (1A)
Vlabh (1A)
vac (2P)
Vvad (1P)

Vvas (1P)

dharati -te
nayati -te
pathati
padyate
pibati
prechati
bodhati -te
bhasate
bhavati
manyate
muiicati -te
yunakti, yunkte
ramate

labhate

vakti

vadati

vasati

didhirsati
ninisati
pipav_;hi_sati
pitsati
pipasati
piprchisati
bubhutsati
bibhasisati
bubhisati
mimamsate
mumuksati
yuyuksati .
riramsati
lipsate
vivaksati
vivadisati

vivatsati

he wants to hold

he wants to lead

he wants to read

he wants to go

he wants to drink

he wants to ask

he wants to know

he wants to speak

he wants to be

he wants to think

he wants to release

he wants to unite

he wants to enjoy

he wants to obtain

. he wants to speak

he wants to speak

he wants to live
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Vvi§ (6P).  visati viviksati he wants to enter

Vvraj (1P)  vrajati vivrajisati he causes to walk
Véak (IP)  $aknoti Siksati he wants to be able
V$ubh (1A) Sobhate Su$obhisate he causes to shine
Véru (5P) Srnoti SuSrasati  he wants to hear
Vsni/ 6By,  stiafawc sisnkspiau  he wants to smate
Y smr{lP) smarati susmirsati he causes to remembes
Vhan (2P)  hanti jighamsati he wants to kill
Vhas (IP)  hasati jihasisati  he wants to laugh
vha (3P)  jahati jihdisati he wants to abandon
Vhu (3P)  juhoti juhiisati  he wants to offer
INTENSIVE
ROQT IstFORM  2nd FORM  ENGLISH
Vji 1P jejeti jejiyate he conquers repeatedly
jejayiti
Vdha 3P  dadhati dedhiyate  he strongly places
dadheti
Vni 1P neneti neniyate he strongly leads
nenayiti
Vbhii 1P bobhoti bobhiiyate  he definitely is
bobhaviti

DENOMINATIVE

NOUN DENOMINATIVE ~ ENGLISH

katha (story) kathayati he tells the story

kavi (poet) kaviyati he wishes for a poet

gopa (cow protector) gopayati he protects

tapas (austerity) tapasyati he performs austerities

namas (homage) namasyati he pays homage to

rajan (king) rajayati ‘ he acts as a king
CONDITIONAL

ROOT  FUTURE CONDITIONAL ENGLISH

v gam |P gamisyati agamisyat he would have gone

Vbhii 1P bhavisyati abhavisyat it would have been
AORIST

ROOT AORIST

+gam 1P agamat, ajigamat, agami

vbhi 1P abhuvat, abibhuvat, abhiit

20



FUTURE ACTIVE AND MIDDLE PARTICIPLES

ROOT  EUTURE PARTICIPLESTEM ENGLISH

Ygam IP gamisyati gamisyant will be going
Vsev 1A  sevisyate sevisyamana will be serving
Vstha 1P sthasyati  sthasyant will be standin;

PAST ACTIVE PARTICIPLE

The past active participle is formed by adding the ending vant to the
past passive participle. It is used as a past tense in the active

construction (kartari prayoga). It agrees with the subject. For
example:

1. "l have seen" — "31dcd" (avadat)

2. "l have spoken" — "3whdlel" (uktavan)

3. "l have gone" — "91d:" (gatah)

4. "l have conquered" — "fadar" (jitavan)
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